Kessel 1993 winnaar: Jaspers GP 027
Naam Car |Brt
Jaspers 50 | 26
Dekker 27 | 26 [Jaspers 50 26
Martens 49 | 63 |v Pruyssen 23 26
v Pruyssen 50 | 63 Jaspers 50 | 39
J. Wijnen 29 | 41 v Cromvoirt | 34 | 39
Kuyt 50 | 41 [Kuyt 36 49
de Ridder 31 | 49 [vCromvoirt 50 49
v Cromvoirt 50 | 49 OF Jaspers 50 | 21
de Wilde Bye| O vd Looy 24 | 21
Schumann 0 0 |de Wilde 44 47
W. de Wit 50 | 64 [Belderbos 50 47
Belderbos 50 | 64 Belderbos 48 | 47
J.P. de Bruijn 50 | 55 vd Looy 50 | 47
H. de Bruin 22 | 55 [de Bruijn 13 32
Bongers 34 | 33 |vd Looy 50 32
vd Looy 50 | 33 SE Jaspers (2) 50 | 30
Arnouts 50 | 53 v Bracht (1) 50 | 30
Overmars 44 | 53 [Arnouts 50 43
vd Ven 50 | 44 |vd Ven 34 43
Verlouw 27 | 44 Arnouts 50 | 35
Nieuwenburg 50 | 45 Nieuwenburg| 42 | 35
Beemsterboer 40 | 45 [Nieuwenburg 50 32
Weijenburg 49 | 45 [Valentijn 40 32
Valentijn 50 | 45 Arnouts 44 | 41
QF
Habraken 50 [ 35 v Bracht 50 [ 41
Koorevaar 28 | 35 |Habraken 50 37
Arkesteyn 50 | 58 |Arkesteyn 31 37
v Daalen 49 | 58 Habraken 30 [ 29
Verkijk 42 | 45 v Bracht 50 [ 29
Hermse 50 | 45 |Hermse 50 43
Havermans 36 | 49 |vBracht 50 43
v Bracht 50 | 49 F Jaspers 50 | 33
vd Smissen 50 | 41 Burgman 26 | 33
Sternheim 33 | 41 [vd Smissen 50 27
Lorist 50 | 35 |[Lorist 24 27
Hoekstra 18 | 35 vd Smissen 50 | 33
v Beek Bye| O v Uum 40 | 33
vd Lem 0 0 |[vBeek 43 59
F. de Bruyn 27 | 41 [vUum 50 59
v Uum 50 | 41 oF vd Smissen 45 | 29
Tijssens 50 | 48 Burgman 50 | 29
vd Stappen 37 | 48 |[Tijssens 50 62
Zwiers 40 | 58 [Wittens 44 62
Wittens 50 | 58 Tijssens 32 | 53
P. Vet 50 | 49 Burgman 50 | 53
Dikstra 36 | 49 |Vet 31 33
Berends 24 | 26 |Burgman 50 33
Burgman 50 | 26 S Velthuis 26 | 24
A. de Kleine 50 | 45 Burgman 50 | 24
Bult 27 | 45 |de Kleine 50 41
Vergouwen 38 | 61 [Holscher 29 41
Holscher 50 | 61 de Kleine 42 | 33
Roelofs 46 | 48 Velthuis 50 [ 33
Velthuis 50 | 48 [Velthuis 50 44
v Manen 50 | 49 [vManen 36 44
A. Broeders 44 | 49 oF Velthuis bye
Gieskens Bye| O de Jong
vd Boom 0 0 |[Gieskens 50 52
Uytdewilligen 37 | 50 [Wijnen 35 52
R. Wijnen 50 | 50 Gieskens 32 | 47
Vredeveldt 50 | 40 de Jong 50 | 47
Breur 32 | 40 [Vredeveldt 43 67
de Jong 50 | 50 |delJong 50 67
v Kuijk 45 | 50




